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1 W
MACHINE SPECIFICATIONS
— ] —_—
O
IIFE DuraVertical 5060 | DuraVertical 5080 | DuraVertical 5100
X ahig@g (7—JILIEh)
X-Axis Travel (Longitudinal -~ mm (in.) 600 (23.62) 800 (31.50) 1050 (41.34)
Movement of Table)
Y #f3EIE (U F)LBIED
Y-Axis Travel (Cross Movement mm (in.) 530 (20.87)
55 of Saddle)
Bl = —
RIS ([ZeipEE (CREALT)
Z-Axis Travel (Vertical Movement mm (in.) 510 (20.08)
of Spindle Head)
7_-—.7)11{_;:@73‘6 ; ‘
T MBI E TORER ;
Distance from Table Surface to mm (in.) 150 (5.90) ~ 660 (25.98)
Spindle Gage Plane
F—DIVFEBORES i) 900 (35.43) = 1100 (43.31) x 1350 (53.15) x
Working Surface ’ 600 (23.62) 600 (23.62) 600 (23.62)
F=W F—JILOEAEHES '
-l 2 Hle Loading Capscty kg (Ib.) 500 (1100) 800 (1760) 1000 (2200)
F—7 )L EBORR 18 mm T & 6 &
Table Surface Configuration 18 mm T-Slot (x 6)
FHRabEmRE 1
. in~ 10000
Max. Spindle Speed! e
FHBRL Y ¥ @
FEh Number of Spindle & = 1
Spindle Speed Ranges Bp
FEhT—/ V30 _
Spindie Taper Hole RT Ne i
FEohEh=AE .
Spindle Bearing Inner Diameter me (in.) 70(2.75)
BRI RE mm/min . .
Rapid Traverse Rate (in.) X, Y: 36000 (1417.32), Z: 20000 (787.40)
e . *9 .
wnme  |DEBEDERE < mm/min " »
Feedratsé Cutting Feedrate ™ (in.) 1 5500 (G5 aaezl]
Y3 TREDEE ' mm/min 1 ~ 5000 < 20 E£>
Jog Feedrate (in.) 1 - 5000 (0.039 - 196.85) <20 Steps>
W— L DT
Tool Shank Type MAS-BT40 [CAT-40]
IV v FRER FRISHLEER 90° [MAS 1 (45°), MAS 2 (60°)]
Retention Knob Type MORI SEIKI 90° Type [MAS 1 (45°), MAS 2 (60°)]
T EIRHRAE A 30
Tool Storage Capacity Tools z
TERAR <BEIBHD>
Max. Tool Diameter mm (in.) 80 (3.14)
ATC %8 | <With Adjacent Tools>
ATC Unit  [TERAR <BEETIEEL>
Max. Tool Diameter mm (in.) 125 (4.92)
<Without Adjacent Tools> ‘
TERARS ;
Max. Tool Length « mm (in.) 300 (11.81)
TERKES
Max. Tool Weight kg (Ib.) .8 (17.6)
TEERHI FHOZHILAEUT I D
Method of Tool Selection Technical Memory Random Method
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IE]S| . . N
e DuraVertical 5060 | DuraVertical 5080 | DuraVertical 5100
TEIFAE SN -
(597 30 9./ &Efw) - & 11/11/9, & © 15/13/11
Spindle Drive Motor kW (HP) Low: 11/11/9 (14.74/14.74/12.06),
(5 min./30 min./Cont.) High: 15/13/11 (20.1/17.42/14.7)
=D EFEES)
Feed Motors kW (HP) X, Y: 1.8 (2.412), Z: 2.5 (3.35)
Santgk Ny ZElEe Il
Motors Lubricant Pump Motor kW (HP) 0.017 (0.023)
D—3S B R R
Coolant Pump Motor kW (HP) 0.635 (0.85), 1.04 (1.4)™
BEB ARSI JVTJLwt 05, BERYT 104, T :0.075
Cooling Oil Pump Motor kW (HP) Compressor: 0.5 (0.67), Lubricating Pump: 0.4 (0.54),
Fan: 0.075 (0.1)
PRBBINR | sorrym MPa (psi)
Required | Gompressed Air Supply L/min 0.5 (71.1), 200 (52.8) <ANR>"®
Air Source (gpm)
mEwyvoas 2.0 <EB). T N
o ! = . L (aal. 0 <F#h, RG>
SVOEE Lubricant Tank Capacity (gal. 2.0 (0.53) <Spindle, Ball Screw=
Tank Capacity DSy RO ES
Coolant Tank Capacity L (gal.) 160 (42.24) 200 (52.8) 300 (79.2)
oS .
Machine Height mm (in.) 2674 (105.28)
MDA ZS | IERBOASS ot {if) 1900 (74.80) x 2180 (85.83) x 2740 (107.874) x
Machine Size | Required Floor Space i 2400 (94.49) 2400 (94.49) 2400 (94.49)
HimEs :
Mass of Machine kg (Ib.) | 5800 (12760) 6100 (13420) 6400 (14080)

1. [1
2 M

*2

ROBFATY 3 vERLUET,

ERYBRRDTEAEEIC LD RHOHE
EDFIRSNBIBaNB0ET,

FoATHITEIES I 1 ~ 20000 (0.039 ~ 787.4)
50 Hz s
60 Hz DIRS

<ANR> [d, R 20°C, #EXIFE 101.3 kPa,
HEXTEE 65 % Ch DIBERTDIREET
e

*1

*2

*3
*4
*5

Values in [ ] are for options.

Depending on restrictions imposed by the
workpiece clamping device, jig, and tool
used, it may not be possible to run at the
maximum spindle speed.

1 - 20000 (0.039 - 787.4) during look-ahead
control

At 50 Hz
At 60 Hz

ANR indicates the standard air state -
temperature of 20°C absolute pressure of
101.3 kPa, and relative humidity of 65%.
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2 HIEBR
, NUMERICAL CONTROL UNIT SPECIFICATIONS
— i —
Q18 A:ATV3v O: Standard /\: Option
(195023 A04)
ﬁgﬁ%&%l MSX-50411
1 i
CONTROLLED AXES
1-1 e
Controlled Axes ANZ O
1-2 (ElSEHIEHE =N 4
Simultaneously Controllable Axes
1-3 R AU ENE NC il fiElzhx 4
Max. Controllable Axes NC Controlled Axes
2 AET
PROGRAMMING METHODS
21 RUGERE 0.001 mm/0.0001 in.f0.001° O
Least Input Increment
22 BRIBDS 0.001 mm/0.0001 in./0.001° O
Least Command Increment
2-3 EAIERIE /+9999.9999 |
: Max. Commandable Value R e ' n O
24  PTYYa—k/ ‘
AIDUAYIINTOTSZEDD G90/G91 O
Absolute/Incremental Programming
= ALt = =
2 BEPBINIGANZNTA=FICTTI
25 ”“’%7\73. ; Electrical calculator type decimal point programming O
Decimal Point Programming is changeable by parameter.
26 A UF/ AU DOEEZ
2 2
Inch/Metric Conversion Bl O
2-7 T J—F EIA/RS244/ISO840 MEENFIAI O
Tape Code EIA/RS244/I1S0840 Code Automatic Discrimination
3 i
INTERPOLATION
L f@ke G0o O
Positioning
32 G _— -
Linear Interpolation
33 PO #ehrs G02/G03 (BF5t@D ./ REFEtEN) -
Circular Interpolation G02/G03 (CW/CCW)
4 Elelile : G7.1 @)
Cylindrical Interpolation
3-5 AU RIVEE = 2 ghefthad 1 & o
Helical Interpolation Any 2 Axes and an Additional 1 Axis
3-6 LDEIE D fHRI R E R I0RLE
Linear Acceleration/Deceleration after O
Cutting Feed Interpolation
3-7 AR I ENEEIFEAES
Linear Acceleration/Deceleration before O
Cutting Feed Interpolation
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} BEBE—E%
POWER CAPACITY TABLE

—_—
JL—h., BESSEIFRCEDIEREZELELOE Breaker and power distribution board capacities are
ELTLIEEL, determined using the current calculated by the

following formula.
BWESSSE (KVA) x 1000 ; Total Power Capacity (kVA) x 1000 ;
pEEAE W= —— x 1.25 Input Current (A) = i x1.25
/3 % 200 (V) /3% 200 (V)
EEV—I Allowance for selection
3-1  DuraVertical 5060, DuraVertical 5080
(194092 B01)
1 %E DuraVertical 5060/DuraVertical 5080
Machine Model
NC MSX-504111
FIOPEEE |
Spindle Speed 10000 min
H—F— J2rpFwsd
Manufacturer FANUC
ZT M3-15i] A06B-6134-H303#A
Model [SVPM3-15i] A0BB- -H30
A—J)— TrFwl
Manufacturer FANUC
- Tt E—-SEIL [0B112L/15000i]

f)}g - Shindle Motor Model A0BB-1675-B120#BFBY

Ea Hh (6 n/ B

Power Supply Output (6 min./ 15/11

Module Continuous Rating) (kW)

' X[B12/3000is] A0O6B-0078-B103
gk TR Y[B12/3000is] AO6B-0078-B103
Servomotor: | Metar iodel Z[B22/2000is] A0BB-0085-B403
MG[p4/4000is] AO6B-0063-B503
1 7Y ERE RS E T
Amplifier Continuity Capacity (kVA) :
2 NC (kVA) 0
il s .
3 Elsstrical Cabiiit (KVA) 0.63+0.19 +0.42 +{(0.037 +0.016 x 2)/ 0.8} = 1.3




